BLOCK CYLINDER

PGL series

ok

3§ &2ld 710|E A2l

O

| = =)

597 www.pnm21.co.kr




PROTELC

{ y—€ Y

2 ME S/ H2 70|12 B4 HE| =2 W M=%l Air Cushion 7|2 Mg
&akEl 71| = %2 9 Ball Bush Guide 7| et B =2 S48 Shock absorber & M ©|3
3 o 7|‘0|E §|7_|.7_| El A(mm) 7|‘0|E ;;g B(@) [ | Stopper7|E X‘Il—S—QE 60"%5'71 E—I I‘”O‘I 'g'ol
- PGC PGL PBM-NB  PGL
216 - 52 8 10
220 60 64 10 12
225 70 76 12 13
@30 80 84 16 16
@40 95 108 16 20 Air Cushion
@50 115 136 20 25

% 710|E E7tH2|= PGCe} H|wl, 70| = X572 PBM- NBS}
H|@ s~X] iuich

B(9)
Pi" <. StopperBolt

'%7 Shock Absorber

B Compact®t 24| & Z2i0|E HZ0|5 &2 HEC0E ZHEs A
W3 M 48% H2 W3 5 49% 22
e o8& 37| LXWXH (mm) 3 % (kgf)

PGC PGL PGC PGL
216 - 193X 74X 32 @16 - 0.88
@20 257X108X55  203X90X38 @20 3.7 1.34
@25 275X130X65  212X106X46 @25 4.2 1.89
@30 301X135X73  232X118X59 @30 5.7 2.93
@40  338X170X93 283X 148X69 @40 8.4 4.95
@50 385X194X103 301X184X82 @50 12.7 8.14

X H7| #X|i= YA PGC ®IZ2| BF7E| 100mm 7|F CHE| 2=X] LT,

€ ¥y @ ¥

W CHSt DRSS ORIUIE] 2] M 24
W RN, PEY, 25, 5
=i SH) A1 7H2E Hof %5

Auto Switch

SRR

-

S viet B 312

598



BLOCK CYLINDER

PGL series

PGL 20-100-SH1-A2 L S

@ @ ® @ ® 6 ®
®712gA ® Auto Switch M 20|
7l = Hid Zo|
@ &Mz G EFHY 2= M
7 & MEHF(mMm) I & (=EEYH(mm) L 3M
16 16 50, 75, 100, 125, 150, 200
20 20 50, 75, 100, 125, 150, 200 @ Auto Switch 2
25 25 50, 75, 100, 125, 150, 200 I & PN-1.
30 32 75, 100, 150, 200, 250, 300 2|8 27H
40 40 75, 100, 150, 200, 250, 300 S 174
50 50 75, 100, 150, 200, 250, 300
@ Stopper At
7l = Stopper
fll= HZ Stopper
SH1 Shock Absorber 174
% HZ Stopper= T Stroke M8 2 Urethane Stopper 2+ Air Cushion
ZEeluch
% SH1EY MEHA| T Stopper AFOIA FIHE MTITH 5H 58 Shock
Absorber 1717} ZAt=|0{F LT
® Auto Switch AF
= B M 251 et 2IMF s
7l = Switch & Hﬂﬂtgéﬂl BjMEISE AC et bC AC et bC Hesa SEAZ
27| Auto Switch 913
A2 SHH 244 3= 100V 24V 5~20mA  5~40mA IP 67 1ms
A2C E=¥ Py 244 AFE 100V 24V 5~20mA 5~40mA IP 67 1ms
A2V %’S E 244 BFE 100V 24V 5~20mA  5~40mA IP 67 1ms
B2 2HH MY =HFE - 24V (5~28V) - 50mAO|St IP67 1ms
B2B 25E 284 BFE - 24V (10~28V) - 50mA 0|5t P67 1ms
B3B 2HA 2444 e - 24V (10~28V) - 50mA o[t IP67 1ms
B3C 2HH 344 B3 E - 24V (5~30V) - 50mAO[st IP67 Ims

* BF|E AU HA HE Al 2|8 SE0]| Fo| HIEILICE (Auto Switch 7|&XtE & X)

599 www.pnm21.co.kr



PROTELC

~ -

(1) H%I Stroke M|0{2 Stopper

ST-BOLT - 1033A - ASSY

©) @ ®
D 71234 B TME g4l
-HZE 1Set 7|12 74 QL|CH
@ MeIHZ
HMEMZ Stopper Boltt2Z
PGL16 0822A
PGL20 1025A
PGL25 1025A
PGL30 1230A
PGL40 1447A
PGL50 2070A
(2) Shock Absorber
PBM-N
PGL 16 - SH - ASSY PQs
PBF
® @ ® ©) PGL
PGC
@ 71284 3 Shock Absorber CAP
@ MeIHZ @ PHE YA
-ME1Set7|= 74 QLICE
g 4 PGL16 PGL20 PGL25 PGL30 PGL40 PGL50
A2IHZ(mm) 16 20 25 32 40 50
EEZH(mm) 6 8 10 12 16 20
Z8™(mm) 50 ~ 200 50 ~ 200 50 ~ 200 75~ 300 75~ 300 75~ 300

2.01XP 3.14XP 4.91XP 8.04XP 12.5XP 19.6 XP
1.73XP 2.64XP 4.12XP 6.91XP 10.5XP 16.5XP

EE=TV)
P:AFSB7|2}: Skef/ch

Job r
rArAd

Hi 2R &4 M5 PT1/8 PT1/4
2R3 (kef) 0.65+0.0023 0.97 +0.0037 1.45+0.0045 2.35+0.0058 4.01 +0.0094 6.7+0.015
ST:AEZ3(mm) XST XST XST XST XST XST
ALESH| HEZIl =)
ArE 2= (kgf/cr) 3~7 (B3 Y™ 10.5) =2
g2 ELQ (BRA HOEIRY 15 ISO VG 32)
A 2E(°C) 5~60
A4 (mm/sec) 50 ~ 500
AhSHIA 259
SX™HE(mm) + 0.06
StrokeZ = ?|(mm) 0~2 =3
1) H™E7|:3~10ume| o{TTE 7%l 99.9%2] HA @2 Gl ISt 22 0.3%°| DHEES ?:.*%BFE HHEO BT

F2) 25 LYe 28t 4Bl 1271 4719212 Ol g} 220 Ol 0| sl gt ol
F3) 47| B HOIECH O ZHst0] AL 2 0101780l HY S 8fx] 20t o] 20|
A7 =7 99| 01402 AIBO| TR AL SHI A Mestol FUAIL.

600



@ PGL Series

601

20 25 30

SHOCK ABSORBER
(28) M8xP1

STROKE+81
2-@5.5 thru 32.5
@9.5DP5.5  |20.5 16.5
4-M4 DP8 8 S 4.5 2-M5(AIR PORT)
1 [
f@ | ;
- © | = S ol o
AR N 8 & o ij i N~
@ D T
02
10| || 2
49 DP4 2-M5
63 STROKE+2 1L | \ (CUSHION ADJUST SCREW)
STROKE+88
STROKE+93
S 2x4-M4 DP6
— ) i —
~ g =t 2
i — ] i:: wt ™
155 | 32 |F ay -
+0.02
40 DP4
40 DP4
~ ]
O$ @
28
m A E
8 4-M4 DP6
155 32 -

40

30

20|20

M8xP1



PROTELC

- ) - - - -
16 25 30 40 50
STROKE+89
2-96.5th 355
902 34 'mfép?“ 122.5 17. M10xP1(STOPPER) .
25° DS |\ 20, 4-u5DP10 2 o~ 2-M5(AIR PORT) :
Q
L \CD b @Y@a L
— e}
g3 HijeEssS ! 53 € il
@ = Q@ O
A\ o~
[ (&)
12 2 féﬂ?moN ADJUST SCREW) e PEMA
66 STROKE+2 |13 PQG
STROKE+95 PBF
STROKE+103 PGL
PGC
o 2x4-M5 DP8
el g
— ™
| ) O— -
& & & ] O
T ) o] °._°.t K
™ 15| 36 |l (12) D
.02
50 Dp5
o
LRI
®$ (=]
g €
® €
— |
= ZIA
@50 pps /]9
15| 36 4-M5DP8

®
fg@ = — %(@ @
= © @ | .2
L@ i B
—{_ N7,
\ SHOCK ABSORBER
(34.5) [\(M10xP1) 8.5

602



603

@ PGL Series

- - ) - - -
16 20 30 40 50
STROKE+95
375
2-@8.5 thru
002 38 @14 DP9 245 195 M10xP1(STOPPER)
26 9 DP6 28 4-M6 DP12 10 6.5 2-M5(AIR PORT) 11
- N
7)) | N
N o 'S ’“@‘*}
2 IS Tl ~ © 8
ee e 9 s g8 (HHEsS 2 8
@—I 1\ © 0O =
5 5 o
o 15 2 M12xP1
0
25
STROKE+105 (CUSHION ADJUST SCREW)
STROKE+112
_ 2x4-M6 DP10
g =
iy
| ) [ i
g 8 A Tl @
9 o ) i
o 175 | 36 | (10) ~
+8,
v 80 DP6
(=} — u
®$ Q °
b
@a- E\
+0.02
260 pp6 /10114 4-M6 DP10
175 36
- —
® i
O —
= == T
@— T S
@
o \ SHOCK ABSORBER
(44) (M12xP1) 1l



PROTELC

- - - ) - -
16 20 25 40 50
STROKE+113
2-985th
M B14DPG 475 239 M12xP1(STOPPER)
g8 +8'02DP8 31 14.5
_30_ | 4-M8DP15 12 ° 7 2-PT1/8 (AIR PORT)
) s >,
04 N ol
® ol w i i - © @ﬂ 9
3 @+ Zg¢ Hio S
W e | o o | =
o) 4> @ == 2 m
oLl © A
=t [ ] @)J
0% opg 1l 2 M14xP1.5 PEM-N
82 STROKE+2 _|16 ) PQG
2-M5
333 STROKE+119 (CUSHION ADJUST SCREW) PBF
PGL
2x4-M8 DP12
- N
R ® 6 —
A 3 = 3
~ 5 o
D D—
0 0
o 21| 40 |~ Y
+0.02
8 0 DP8
N
0o
QN 3B
o e\ 1
_‘ 7
+0.02 2
@8 9 DP8 20| 42 4-M8 DP13
|
@ e
|
O .
® = 5
(58) ) SHOCKABSORBER 14.5
(M14xP1.5)

604



605

@ PGL Series

108

- - - - ) -
16 20 25 30 50
STROKE+160
755 M14xP1.5(STOPPER)
50
31
» 51.5 34
+0.02 ;
@8 0 DP8 AMBDPLS 115_| 25 < 2-PT1/8 (AIR PORT) 17
! S —
|| l L N
o\ 4 | I i 0 EB% D
5] @ @I N
0| Dﬂ E— - ~ ﬁ © g
@8 FY3 = i o S
0 =T © © ~
o — )
%@ °© ® @ /97
S ) ®
M20xP1.5
80" Dps 20| 3 )
34.5 409 thru 90 STROKE+3 20 2-M5
43 @14 DP9 STROKE+136 (CUSHION ADJUST SCREW)
STROKE+183
o 2x4-M8 DP13
(=] —_
==
2, A
= D
=% [ = =¥
] ) ) mt
QT (14) 9
12 66
2 o
80 DP8
l
— @ ® '}
ol O O_'
g = —
OmO ;] 1
| [ 4
Zs Q[
+0.02
@8 0 DP8/ |24| 42 \4-M8DP13
R -
-
p @ — O) (O)
D D— @ lo— o
> 6T ? J| <
L ] o
SHOCK ABSORBER
629 Nwzoers) 52




PROTELC

16 20 25 30 40

STROKE+173
2 M20xP1.5(STOPPER)
- 58 34 20
+0.02 4-M10 DP20 = -
2100 ppig | 8- | SEEEE 12| 30 " 10 2-PT1/4 (AIR PORT)
o
[
[ ] % \
o L ] N
o— §3 D ! - "
i H ® —
3 By s 2T m 5@ od 3= r;j Q|3
— ©l 9 —| 5| u v 4 ol 5 E
g{_ﬁ I T\ 0) Q N
= ) —
ot © N 5 m
@ / )‘J@ PBM-N
40,02 M25xP1.5 -
10 O DP10 25| 3 61.5 PQG
41 126 STROKE+3 25 2-M8 PBF
50 4-@11 thru STROKE+182 (CUSHION ADJUST SCREW) PGL
?17.5DP14
— STROKE+201 PGC
;; = 2x4-M10 DP17
. ) —®
S 8 [ b4 i~
= 3 ) —H &
o] w)|
13 100
27 +0.02
‘ 10 ©  DP10
= S
= o o——
g < q
— —
o oL — i
1 /o @
+0.02
2109 pp10/ (27| T2 \4-M10 DP17
[ Ye— = , E@
m 1 305 ©
D
E@U@ I % QO N
° @M
HE s @3
o T SHOCK ABSORBER
(72.5) | \(M25xP1.5) 61.5

606



607

—

1. g2in] 3 2E 7Y

D D r
® ® T &
L& |
HEHE ER3
[o] EE
PGL16 M5X0.8 51
PGL20 M6 X1 81
PGL25 M8X1.25 157
PGL30 M8X1.25 157
PGL40 M8X1.25 157
PGL50 M10X1.5 360
3. #2iH 4 Y 7Y
e I— LS
Fee——————— =
@ = E—

Ay asme SHUS
PGL16 M4X0.7 25
PGL20 M5X%0.8 51
PGL25 M6 X1 81
PGL30 M8X1.25 157
PGL40 M8X1.25 157
PGL50 M10X1.5 360

H™ HZ ER3 Z|CiLiAtZio]
L (mm)

6
8
10
12
13
17

2N X Y 7Y

|.EFI.'
-] ] r
o e———ts
Ao AMEEE HIEANZBER3I Z[CiLIAZO|
e A (kgf-cm) L (mm)
PGL16 M4X0.7 25 6
PGL20 M5X0.8 51 8
PGL25 M6 X1 81 10
PGL30 M8X1.25 157 13
PGL40 M8X1.25 157 13
PGL50 M10X1.5 360 17
4, Z0|E ¥ FHEH
— L—f
e =
—5 —————————— © o
& D e

MAHHZ EQA *|CHLiAtZio]

Ay ages TUEEES
PGL16 M4X0.7 25
PGL20 M5X0.8 51
PGL25 M6 X1 81
PGL30 M8X%1.25 157
PGL40 M8X1.25 157
PGL50 M10X1.5 360

L (mm)
8
10
12
15
15
20



